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Factor the polynomial.

10x% — 20x.

'®) 10x%(x — 2)

'®) 10x(x — 2)

@) 20x(x—1)

O x*(10x —2)

14Vl Jolgsl) 392zl OlyiS Juls

Aglalge ) agand) 5,5 Jla

10x% — 20x



1 8lgluall dubbdl SV lsell J>

If 6x — 12 = 18, what is the value of dad L 6x — 12 = 18 i<y

7x — 57 7y _5§
o a
O 30 b
ol c
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Find the range of the relation Eyall (sie Jwi
{(-2,3),(-1,3),(-1,5)} {(-2,3),(-1,3),(-1,5)}

| - - k- - - .
then determine whether the relation Al g Ble aBlal) CilS 1Y L das o

is a function,

aa ¢{3,5}
O .a

{3,5}; function

adla st ¢{3, 5}

{3,5}; not function

s ¢{—2, -1}
{—2,—1}; function

s cud f—2 —1}
© d

{—2,—1}; not function
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Write 3y = 4x + 5 in standard cAaldl) dasall 3y = 4x + 5 sl

form.
O 4x-3y+5=0 i
O 4xt+3y= 5 b
O 4x—-3y=5 <

Q4x—-3y=-5 4



What is the slope of a line that is

parallel to the graph of

y=—-2x+37?

Tabal dsleall o padiue Jao

3 Al Jhal) (e psian Jre 58 La

‘y=—-2x+3



1 ghially Juell duay dslee sl

Write an equation in slope-intercept 4l adiual alaially Jiall dasas dlilaa cs)
form for the line that has a slope of ((0,—2) dhdill yai9 3
3 and passes through (0,-2).

Oy=2x+3 a
Oy=2x—3 b
Oy=3x+2 <

Oy=3x—2 d



What is the a5, entry in matrix

1 12 13
A= 2 3 14?
3 4 1
4 1 2
012
@) 14
O 3

1 dsginaall O\ls00

&M‘gﬁgagz (m 'IJQLA

1 12 13
ca=|2 3 14
3 4 1
4 1 2



Simplify (—2x~*y*)(=7x°y~%).

Assume that no variable equals ().

14y

-—

O 14x%y
2x?
O~

1598 Ll $oixd Wil yulaillg Al S iy dewdy W pd

(=2x7y?) (=720 %) eadl) lal

0 golow sitia 225 ¥ A )



Estimate the x-coordinate at which a
relative maximum occurs.

1 Ly liuol oSlol 3oy Lily dgazdl 8,4 Jlgl Juiad

e Ao oxic aagi s} X lasy) B

LA

A w o LO

s

Ol

0—25
1

O~2
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Determine consecutive integer ai Al x gosaall asall ddlatal) aadl) 23

values of x between which real J(x) =x3 —2x% + 51 s jha gy

zero is located of

f(x) = x3—2x* +5.

x=—1,;x=0 n

'®) a

Between x = 0andx = —1

x=23x=1

O b

Between x = 1andx =2

x=—15x=-2 G

o

'®) c

Between x = —2 andx = —1

xX=—-23x=-3 =

O d

Between x = —3and x = -2
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Evaluate b2 — (3a + b)3 if i€ 1Y b2 — (3a + b)3 dad sy
a=—-2and b =4. .b=4sa=-2
@) 22 a
O 8 b
o 10 ¢

O 24 d



Which algebraic expression Bl el Jla oyl juladl) &

represents the verbal expression

anl) Je 2 e dagihae 5 dadd pali”
“the quotient of 5 less than a 12

number and 1277?

5—n

O 73 ’
5

(@) E—n b
n—->5
12 .C



Solve the equation

lx—5|+4=09.

oi-u

OG)

O (0,10}

O {0}

1dalholl degdll SVdleo J>

Jx = 5] +4 =9 dslaal) Ja



Identify the graph of the solution set
of 2x +3 < 9.

|
|
-2-1 012 3 4

10lgbl 83axi0 Slyliedl J>

da doganal Jlud) Jdatll sas

2x+3<9



For which function does

f(=3)=-17
O f(x) =|-2x|
O f(x) =[2x]
O f(x) =[]

O f(x) =2x

Tdi>)d db deus Sl

of (—3) # —1 com i ¥
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Write an equation for the graph oLl cpanal) Alul) Jfiaill Aalea )

shown below.

) | x|
O y=x"+2 a
O y=x-2)° b
O y=&x+2)" .

Oy=x2—2 d



The first equation of the system
below is multiplied by 3, by what
number would you multiply the
second equation to eliminate the x

variable by adding?

4x—3y =6
6x+y=10
O -9
O 2
O —2

1 4bs SVl plbi J>
3 B dug e ol AU L Y Alilaal)
Cadal Al Aslaal) 4y Copaion (g3 anelle
fpaall jo x il
4x -3y =6
6x+y=10



Which system of inequalities is

graphed?

\\ '..’

1 il Jaailly Slislio olsi Jo
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Find the product [_i ;; [

if possible.

ol 3l

ol 7ol

olil

oSan 18

not possible

1 0
3 -2

106 shuaall Lpd
] pal) gl a gl

OSal ¢



(x — 3) is one factor of

x3 +4x%* —11x — 30.

Find the remaining factors.

O x=5),(x+2)

O (x—6),(x+5)

O (x—5),(x+6)

O(x+2),(x+5)

Tdelgsdl (Wl g2l OlpuiS Jul=s

Jalge aaf @ (x —3)

X3 +4x2 —11x-30

ABSa) Jal gad) a2l



